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Faper / Subject Code: 71803 / Cost & Management Accounting .

Rrogvom Gde: 2C00S3)

Time: 2 Hours s  Total Marks: 60
N. B.: (1) All questions are compulsory carrying equal marks. s S :

(2) Support your answer with required working notcs.

(3) Round off upto two decimal points.

(3) Use of simple calculator is allowed.

1. Prepare a Cash Budget for the three months ending 30™ June fromét'ﬁebfo‘ﬂo_wing'information.

; 5 Lol Bk i e o RS IMIarKs)

[ Month } Sales Materials | "’Wa:'g'es"'--"("O'\}érliiéad?’ S

_Rs.| e RGP e VR
February 1,40,000 96,000 |- 30,000 ©:17,0007]
March 1,50,000 | 90,0001 30,000 i 19,000 |
April 1,60,000 £ 92,0007 <1 32,000 0 20,000°149,-.
May 170,000 1,00, 360001 22,000 |, "
June 1,80,000 5 A0000' L. < 93,0007 t

(a) Credit terms are- Sales/Debtors ~10% ales are.on cash

frr, ol cash, : O%ldfj_t"_"‘t?f:cr: it
next month and the balance in the following monh. -

(b) Creditors — Materials 2 months -~ *
Wages Vo month. .~ -
, Overheads Yomonth > 7. "7 oo gn v e
(c) Cas' : 1 Bank balance; April is expected to be Rs.60.000.
(d) Othcr relevant informatio R I
(i)  Plant and )

/W ll;"t;‘e,vmﬁsgél‘lvédg-vj'in;"Fébfu:ary, at'a cost of Rs.9,60,000. The
Rs.12,000 are payable from- April onwards.

(i) cference share capital of Rs.12,00,000 will be paid on 1% June.
(iii) 1 ved for sale of V§hié'les_Rs.~9.0,‘O_(')0__in June.

(iv) ds from invest; nts amountin p}Rs\._(_LQ;OQO’are expected to be received in
™)

:produces 10,000 units. Prepare a Flexible
hen it works at 60% and 80% capacity and
Viaterial Cost increases by 2% and selling price falls
icredses by 5% and selling price falls by 5%. At 50%
80 per unit and is sold at Rs.200 per unit.

[15 Marks]

40% Fixed)
1(50% Fixed) o
it the above stated capacity utilisation.

mpany operates a Luxury bus, which runs between Delhj to Jaipur and back

onth. The distance from Delhi to Jaipur is 270 Kms. The bus completes the

0 Jaipurand comes back on the same day. The bus goes on a Delhi-Agra trip for
] he distance from Delhi to Agra is 180 Kms. This trip is also completed on
the s_a’me:;‘day._Foi: 4 days of its operation in a month it runs in the local city. Daily distance
ccve:éd'i‘n,'ihé'éity is 65 Kims. The other information is given below:
o AR S 2R [15 Marks]
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@urﬁculars " Amourt (Rs.)
Cost of Bus ' ~715,00,000
Depreciation ~ - 15%per annum
Salary of Driver " 9,000 per month
Salary of Conductor 8,000 per month
Salary of Part Time Accountant | 4,500 per month |
Insurance " R 10, 800 per quarter |
Diesel Fih o A9 perlitre
Dlstance covered per lltre o 5Kms |
Token Tax 0 -8, 100 perquarter |
Lubrlcaﬂ! Oil ; L300 ser 100 kms
Repairs and Maintenance P et 8 ooo per manth |
Permit Fee S A | 13,050-per quarter
Normal Capacity i A G S s 50 persons

The bus is generally occupied 90% of the ‘pacny when it goes to Jalpur and 80% when it goes
in the city.’ Fassenger tax.is. 25% of the fare,

to Agra. It is always full when it rung' |
Calculate the rate the company should charge a passcnger when it wantsto carn a profit 0f 334%

on its revenue.

'OR.

2. The standard mix to produce one unit of product is as follows. : [15 Marks]
Material X 60 mts@ Rs. 15 perunit= " [Rs. 900 ‘I
Material Y- 80 units- @Rs. 20 per unit= Rs.1600
MatenalZ 1007 uglt Rs. 25 per unit = Rs.2500 _‘
(047240 gnitsse - - ' » 5,000

follows:
17 50 per umt = Rs. 11,200
]8 per umt = Rs.17,100
Rs.23,925
52,225

62372

; Overheacf (5400 f

[15 Marks]

-Rs.3,00,000
< "Rs:1,00,000
riable) .~ Rs.4,00,000
You are requiréed to ,__mpute
(1) ; ContrA ution per unit
(i) PV Ratio -/ .
(iiiy  Break‘Even Sales in Rs, > o 22
(iv): - Break Even Sales in Units , oy

Labour Cost

Lo
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(v)  Sales required to earn a profit of Rs.4,00,000 ,5. 2226

(vi)  Profit when sales is 18,000 units Y %D e

(vii) ~ Margin of safety when actual sales is Rs.7, 00,000 -« -

The Cost Sheet of a product is as follows: B o [15 Marks]
Particulars : Rs: Per unit |
Direct Material : 10

| Direct Wages 5| »
Factory Overheads:

Fixed ar : = 1
Variable S E SR SRR e e
Administrative Expenses (Fixed) S s 5]
Selling and Distribution Expenses: 57
Fixed 0.0
Variable <1
Cost of Sales “21 i

> above cost. mformatlon is for an output oL 50 )0 units,
00 units; A f@rengn customer is desirous-of buyi 10,000
he extra cost of exporting the product is Rs.0.50 per unit. You
rer whethef the order should be accepted"

The selling price per unit is Rs.
whereas the capacity of the firm
units at a price of Rs.19 per un
are required to advise the m

(A)Rewme the entire Sentence seleptmg the most appropnate a!ternatwe ‘with the given serial

no.s without altermg the Q : , [08 Marks]

1. Fixed Costs are ﬁxe
*(a) Totally
(b) Per unijt: =
(c) Both of these * -

sy e

4 Euﬁde:rfthé_.‘mgst‘»favourable conditions possible |

wbﬁld:ﬁh‘ptibc included in a cash Budget?
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5. The object of hotel costing is to find out cost
(a) Per table
v (b) Per room
(c) Perbed
(d) Per visitor

6. Garage rent is
' (a) Semi variable
*(b) Variable cost

(c) Fixed cost
(d) None of these

7. When sales increases then break even pomt
* (a) Increases
(b) Remains constant -
(c) Decreases
(d) None of these

8. Overhauling is classnﬁed:ﬁ
. (a) Fixed cost

(b) Semi fixed cost

+ (¢) Maintenance cost.

(d) Marginal co

(B)Match the follbwm '

‘i tlng t‘le columns A & B:by matching on an overall most

[07 Marks]

> B

il Y Control_]abfe Cost

b. fDrawn for one level

miting Factor

Magm of Safety in Value x P/V Ratio

Drawn for multiple levels

g Per Ton K.M

OR

3ok ok o ok ok ok ok Rokok
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